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SN BB SR(EH) - MPAY - B 03] &k o8 p[E-F" HIRE2
T2 40,726,700 40,519,226 207,474
= 6,700,000 6,700,000 0
= 239,850 239,850 0
S 3,940,000 3,940,000 0
Al 29,846,850 29,639,376 207,474
Helgt WsEHMAH 5 ¥ ZAIZE 2d 22,658,539 22,508,215 150,324
= 6,700,000 6,700,000 0
S 2,002,000 2,002,000 0
Al 13,956,539 13,806,215 150,324
S2ME 19,577,549 19,427,225 150,324
= 6,700,000 6,700,000 0
L= 1,937,000 1,937,000 0
Al 10,940,549 10,790,225 150,324
AZ3F 65956 MUZ HEZA 150,324 0 150,324
401 Al&HIZ =20 150,324 0 150,324
01 Al&dI 150,000 0 150,000
OAZ37 65054 MUZ NS At 150,000 0 150,000
—E X0yl 120,000,000& 120,000 0 120,000
— A& 30,000, 000& 30,000 0 30,000
03 Al&SOHHI 324 0 324
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30,000,000& »1.08% 324 0 324
OtMGHLY) BWEEE TAIEE X4 215,197 175,597 39,600
JhRe MEEA T4 215,197 175,597 39,600
H=EUWAE 29 184,717 145,117 39,600
401 A&BIZL R0 166,514 126,914 39,600
01 Al&dI 166,514 126,914 39,600
OHIZUIAIE OIME I S At 39,600 0 39,600
—0IMEE =l 800,000& 374 & £ 29,600 0 29,600
—StEA B 10,000, 000& 10,000 0 10,000
Helst wssdEiy 267,419 256,869 10,550
HA2E 0 NENH 02 3 267,419 256,869 10,550
NEH2SEEHERE T2 2 107,820 97,270 10,550
201 YEr23H| 70,720 70,170 550
01 AtSZ2lt] 69,720 69,170 550
OXEH ZHOIK SXIE =4l 550,000 550 0 550
307 21201 20,000 10,000 10,000
04 QIZFHAIE X 20,000 10,000 10,000
OHM9al NH&EH =W A 20,000,000& 20,000 10,000 10,000
Zstel el 24 7,000 0 7,000
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M 2319 Hel =4
el 23519 J2IAlY (9 &)
2AH -3 S2A(ZH) - MEAIY - BHES 0l &l Iy A Hlns2
32| HelArd 7,000 0 7,000
2dFE T4 At 7,000 0 7,000
201 LEt2AY| 7,000 0 7,000
01 AbR2teldl 7,000 0 7,000
OUZ=Z ZHAIY FoI&EHS)
500,000& x61 = 3,000 3,000
OLFZ THAIE IHES
200,000& x10H x23] 4,000 4,000
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